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Options:

| v & 480
. % ® 720
5« & 800
L % ® 960

Question Number : 26 Question Id : 799627626 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

A trader purchases some pencils at the rate of one dozen pencils for
Rs 50 and sells them at the rate of 15 pencils for Rs 70. His gain
percent is:

Options:
1. ¢ 8

102
o Ee 7

T W 12

152
4 ® 7

Question Number : 26 Question Id : 799627626 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

Te SR $T 98w ® 50 9 gt HT @ § @lear § dR® 70 7 15
T8 $r 2T ¥ 9941 g1 IS o Qi &

Options:
1. ¢ 8

102
7

2 ®
T 12

152
4 ® 7

Question Number : 27 Question Id : 799627627 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

A loss of 15% is incurred not increased when wheat is sold for Rs
13.60 per kg. At what price per kg should the wheat be sold to get a
profit of 15%7?

Options:
1 « Rs16.60

> % Rs 18.40
= % Rs19.60
4 % Rs 2040

Question Number : 27 Question Id : 799627627 Question Type: MCQ Option Shuffling: Yes
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I & 13.60 9 fFaw Fr g7 F 39S W 15% Fr @A g &1 T H;
SiafeRam fFe Hoa o 9= AT & 15% &0 omeT g

Options:

. v ¥ 16.60
. % ® 18.40
2 % ¥ 19.60
L % ¥ 20.40

Question Number : 28 Question Id : 799627628 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

Each interior angle of a regular polygon is 135 . The number of sides of the polygon is:
Options:
1.v 6

o W 7
T W 8
4 ® 10

Question Number : 28 Question Id : 799627628 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

wwwm%ﬂa:ﬁmm{m%laﬁasﬁraﬁmﬁsﬁmaﬁ
Options:
1 v 6
2_%?

3_%8
4_%10

Question Number : 29 Question Id : 799627629 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

Which of the following statements is not true?
Options:
, « Allthombuses are parallelograms

- % All squares are rhombuses and also rectangles

5 % All parallelograms are trapeziums
4 % All squares are not parallelograms

Question Number : 29 Question Id : 799627629 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

o= Faal 7 & i a1 uew a8 22
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Question Number : 30 Question Id : 799627630 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

The area of a rhombus is 120 cm? and one of its diagonal is 24cm. the perimeter of the
rhombus is:

Options:

1 « 44cm

- % 48 cm
= % 52cm

4 % 104 cm

Question Number : 30 Question Id : 799627630 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

TE THAGHS FT &TRA 120 FH § R suE ve Rewor Fr was 24 T P
FHIGSS HT IAT
Options:

| v 44 |
5 w 48 THAT
- % 52 HHAT
4 % 104 @

Question Number : 31 Question Id : 799627631 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

Perimeter of an equilateral triangle is 27 cm. [ts area. in cm?, is:
Options:

8143
1. 4

2743
o W 4

2743

= W 2

wl

2u3
4 ® 2
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Question Number : 31 Question Id : 799627631 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

wwﬁa&*mqﬂﬁﬂﬂﬁﬁr%l =TT 896 (FE2 &) &

Options:
8143
1. 4

2743

Question Number : 32 Question Id : 799627632 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

The base of a triangle is 3 times its corresponding height and its area is 3750 cm?. The
length of its base is:

Options:
1 « 00cm

- % 90 cm
= % 120 cm

4 % 150 cm

Question Number : 32 Question Id : 799627632 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

TrET eyt T AR HWHr WoTq SIS 1 Al AT § FUT SHHAT aFha 3750
T2 & 3mma T TEE T

Options:

|« 60 THY
> % 90 ®AT
- % 120 HA
4 % 150 ®HY

Question Number : 33 Question Id : 799627633 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

A wire of length 44 cm is bent to form a circle. The area of the
: . : 22

circle (in em?) is (take :-'1'=?).

Options:

1. 77

5 % 154
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3 ® L

4 % 308

Question Number : 33 Question Id : 799627633 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

44 T wETE Fr TH AR F AT T I TSI IT
Id #1 &% (@A H) § (=2 Ao

7
Options:

1.v 17
, % 154
- % 231
, % 308

Question Number : 34 Question Id : 799627634 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

The side of a square is 54 cm. The perimeter of this square is equal to the perimeter of a
rectangle where length and breadth are in the ratio 3:1. The ratio of the area of the square
to that of the rectangle is:

Options:
1« 34
o % 413

2.

L]

3 R

Question Number : 34 Question Id : 799627634 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

Tk FIT T ST 54 TAT ¥ FH T F1 IRAT T HAS F TRAT F WK §

ST sars 3R =iss 7 311 F7 3T 1 T F &ABA F 7T F ATH
T AU

Options:

1 v 34
> % 4:3
z % 2:3
4 % 32

Question Number : 35 Question Id : 799627635 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

The distance between the parallel sides of a frapezium is 9 cm and its area is a 270 cm?.
The ratio of its parallel sides is 8:7. The difference (in cm) of the parallel sides is:

Options:
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Question Number : 35 Question Id : 799627635 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

TreT T T GATEY T F A=A gt 9 AT §1 AR SHET & 270
A ¥ SR HATR AT F 8:7 & U g1 AR AT FT HR (W
:Er)%:

Options:

1.¢ 2

2_233
3_234

4 % 6

Question Number : 36 Question Id : 799627636 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

Two dice are thrown simultaneously. The probability of getting the sum of numbers
appearing on their tops as ‘at least 97 is:
Options:

1 @ 12

ra
®
o |

o]

Question Number : 36 Question Id : 799627636 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

2 FE F UF T T F1aT Bl 39 I A TEIE &7 o9 ¥ 9
9" 8, SHHT UIfAHar ¢

Options:

1 @ 12

b |

o W

o | =

o R

5
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Question Number : 37 Question Id : 799627637 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

Of three numbers, the first is twice the second and the second is thrice the third. If the
average of the three numbers is 70. then the average of the first and third number is :

Options:
1 42
> #% 73.5
= % 34
4 % 94.5

Question Number : 37 Question Id : 799627637 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

It FEAC 39 9K ¢ T Igell §EAT qEy €T #T &
AT § TAT GEY FEA Hud wEw 1 A g 1 Ay
At @Eart & 3fttma 70 §, g9 el it ol gwar e
dtwa &

Options:

1 v 42
> % 13.5
- % 84
4 % 945

Question Number : 38 Question Id : 799627638 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

There are 45 students in a class. The average age of boys in the class is 16.4 years and that
of girls is 15.4 years. If the ratio of number of boys to that of girls is 2:3. then the average
age (in yvears) of the students in the class is:

Options:
| « 15.8

> % 15.9
3 % 16.1
4 % 162

Question Number : 38 Question Id : 799627638 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

forelt e 7 45 faeneft &) Fam 7 w=at Fr Awa g
16.4 a% g Tr @sforar #r sitad 3y 15.4 aw g1 If
g HT TEAT F asfEal F FE @ HUT 23 § a9
Fem & welr faEnedfat & sftwa amg (@@ A) &

Options:;
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. % 15.9
2 % 16.1
4% 162

Question Number : 39 Question Id : 799627639 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

The average of all the two digit numbers divisible by both 2 and 5 is:
Options:
1.« 40

Question Number : 39 Question Id : 799627639 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

37 @il ar 35T JTelr TEITHT, S 2 WX 5 S ¥ & furew § Fw ot &

Options:

1« 40
> % 4b
=z #% 50
4 % D5

Question Number : 40 Question Id : 799627640 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

The average of ten numbers is 39.The first number is increased by 1. the second is
increased by 2. the third by 3 and so on. The average of the resulting numbers is:

Options:
1.« 43

> % 44.5
3 % 45.5
g W 44

Question Number : 40 Question Id : 799627640 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

oH eI #T AET 39 Bl W wEw F 1 FrgfE, g A 2 Fr, I A3
Fr AR T IFR AT el TEIE # gy Hr F § 3 THR 9oT TS
FT IET &

Options:

1« 43
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. % 44.5
. % 455
4 ® 44

Question Number : 41 Question Id : 799627641 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

A car can cover a distance of 320 km in 4 hours. In what time can it cover the same
. ey & il
distance if its speed becomes . of the original speed?
Options:

i
4= hours
1.¢ 2

> % 5 hours

1
. 5 = hours
=,

4 % 06 hours

Question Number : 41 Question Id : 799627641 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

T FR 320 Rl Fr el 4 v H ¥ F g T A
el TAT & 98 N A 3T ST T TEeETer Aol S an
Options:

1. 4% e

2_% 513%-
51 g
W 2

3.

4 W BHE-

Question Number : 42 Question Id : 799627642 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

A purse contains 378 coins consisting of one rupee. 50 paise and 25 paise coins. If their
respective values are in the ratio 13:11:7, the number of 50 paise coins is:

Options:
1. ¢ 63

o ® T8
3 % 132
4 % 168

Question Number : 42 Question Id : 799627642 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0
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Options:

1 v 63
> % 18
2 x 482
. % 168

Question Number : 43 Question Id : 799627643 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

25 persons working 9 hours a day can do a piece of work in 40 days. In how many days
will 15 persons working 10 hours a days do the same work?

Options:
, « 40 days

> % 45 days
5 % 50days
4 % 00days

Question Number : 43 Question Id : 799627643 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

25 cafda gfafe 9 o¢ &1 4 Ta F1H Fr 40 AT & [ FX Fa 21 15
afed 3HT FH F Fiafed 10 89 FH F e &G J 0 FE7?

Options:

| v 40 &=
o x 45 fea
5 = 50 fea
4 = 60 fe&

Question Number : 44 Question Id : 799627644 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

A sum of Rs 8820 is divided among 4 persons A. B.C and D such that B’s share is % of
A’s share. C’s share 1s 2 of B’s share and D’s share is % of what B and C together

receive. The share of D is:

Options:
1.« Rs 504

~ % Rs 1260
= % Rs 2016

s 5040
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Question Number : 44 Question Id : 799627644 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

¥ 8820 Fr T TR & IAW IfFa3T A, B.C 3T D H 7 YK e FaT &
ﬁFEiawaﬂm'A=$'ﬂﬁTaﬂ§;%,C:ananﬂ'5-$'ﬂﬁraﬂ§;%‘HﬂTE}Eﬂaﬂﬂ'B
AT C At F wrert Fr e g 1 F1 D FT &7 &

1

Options:

| v ¥ 504
> % ¥ 1260
2 % ¥ 2016
. % ¥ 5040

Question Number : 45 Question Id : 799627645 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

If the weight of 9 sheets of paper is 25 grams, then how many sheets
; e
of the same paper would Weigh 1 ¥ kg?

Options:
1« 250

5 % 300
5 % 360
4 % 450

Question Number : 45 Question Id : 799627645 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

T FoTA F7 9 offel &1 X 25 TH 2, ar UF &Y Frera Fr gt offer &1 A
13 e grem?

Options:

v 250
- % 300
- % 360
. % 450

Question Number : 46 Question Id : 799627646 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

A sum of Rs 6250 amounts to Rs.7840 in 2 years at a certain rate percent per annum when
the interest is compounded annually. At the same rate, simple interest on a sum of Rs
12200 for the same time will be:
Options:
1 « Rs 1464
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= % Rs 4392
4 % Rs 4398

Question Number : 46 Question Id : 799627646 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

FER0FrvF O, 2 q6 H, v AT s as s Frar @
F 7840 g T & T <O 9ia9y Haled &1 3§ &7 ¥ & 12200 Fr =+
T 97 8T AT & T gremor o gem:

Options:

| v ¥ 1464
, % ® 2928
2 % ® 4392
L % ¥ 4398

Question Number : 47 Question Id : 799627647 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

i 3 i
The compound interest on sum of Rs 31250 at 8% per annum for 2 L Years is:

Options:
1 « Rs 6875

> % Rs 6250
= % Rs 7357

4 % Rs 7387

Question Number : 47 Question Id : 799627647 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

® 31250 # v TRY &7 2-a6f & v 8% ¥ o7 & wwgfe == gwm

Options:

, v ¥ 6875
, % ® 6250
s % ® 7357
. % ® 7387

Question Number : 48 Question Id : 799627648 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

A sum of Rs 7500 put out at simple interest amounts to Rs 9300 in 3 years. What will a
sum of Rs 4875 amount to in 5 years at the same rate of interest?

Options:
1 « Rs 5850

# Rs 0045
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3. 23

4 ®% Rs 8775

Question Number : 48 Question Id : 799627648 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O

¥ 7500 Fr v el WIROT T T 3 I8t F F 9300 A AH FI W R T
¥ 4875 & el 5 st & fogar g SAree?

Options:

, v ¥ 5850
, % ® 6045
. % ® 6825
. % ® 8775

Question Number : 49 Question Id : 799627649 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

The equal sums are lent out at the same time at 4% and 3 % per
annum simple interest respectively. The former is recoverad 2 years
earlier than the latter and the amount in each case is Rs 9300. Each
sum 1s of :

Options:

1 « Rs 7000

~ % Rs 7200
= % Rs 7500
4 % Rs 7800

Question Number : 49 Question Id : 799627649 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0

ar WATA TTAT T &7 TAT W FAM: 4% AR 3% T
ZT W WIERUT e37Ts 9X 3UR & a3 &1 ugelr ufer gudr ufr
1 31T 2 I TEA I & E 3R A & Feufe
et T 9300 ¥ e (3UT & 18) Tfr &

Options:

. v T 7000
> % ® 7200
2 % ® 7500
. % ® 7800

Question Number : 50 Question Id : 799627650 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: O
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If the compound interest on a certain sum for 2 years at 4% per annum 18

would be the simple interest on the same sum for the same time at the same rate of
interest?
Options:

1 « Rs 8000

- % Rs 8800
= % Rs 9000
4 % Rs 9600

Question Number : 50 Question Id : 799627650 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0

T TR IR R argie soT 2 a0 & ™0 4% TIiNF T § ® 9792 &, ar
37 Ui 9T 56T 2T ¥ 397 & §HT & v snnur o faar geme

Options:

, v T 8000
, % ® 8800
- % ® 9000
. = ® 9600
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